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Answer any five Questions
[ ime :  0i  l - loLtrs

01. a) Solve the fol lowing sirnultarteous equations.

i) 
2x +3Y = 1 

ii) l-!:?- = Y, 2 = 1'--x
x -2Y=4  3  4  3

b) Find the roots of the fol lowing quadratic equations.

2x2  - l 0x+ l=0

c) If  a and b are the roots of the quadral ic 2x? +x-l=0 equation then f ind the

fol lowing

i )  a '  +h t  i i )  a '  +b '  i i i )  ] ,  *  , lu ' '  h '

02. a) Factorize the folloivirrg fr:rrction.

i )  x '  -  8  i i )  3* t  y  -15x +9xy -  45

b) If x - 1 = 3 then {lrrd the valr-rc of 
"t 

- *!.-

c) Find the value ol-  r  fbr 1hc- lbl lo l inq t lnct ior.rs.

i )  (8,r  + c))  = (6-tr  -  9)

i i )  3 ' x  8 l ' = 9

iii) o;!i=l_t;

03. a) Withorlt  using logarithrn table l ' i rrd thc valuc o1' -t

i )  x l og5+3 log2+ log5=3

i i )  3 l ogx+3 log2= logx+3 log3 -2 log6

b) Using logari lhrn table calctr late the valtte ol '
A :
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A  -  -  - t - . i
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04. Calculate the l imit of the fol lowins functions:
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05. Differerrtiate the followins functions with resoect to x
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11- 1' :  ,re' then shou' that :!- ):  =(.r + 2)r,
rLr

06. Iniegrate tl-re follon'inq lirnclions rvitli respect to -y
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Calcr-rlate the fol lovving integrals.
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Matrix A is defined as

l^ b-l
I  land
t2 3)

A-t = 31f ind the value of a and b

Using the matrix application solve the fol lowing simultaneous equations.
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